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(George Hughes, Reading Novels, Vanderbilt UP, 2002)

EVEMEOBIfR B, BAAR L7220

[1] XEIOFT, EHEIT L T F2Z7 V7O [2— L7 50OE] L HG V2L AD [ma—-~vFy T =]
TiE, FEEHLIZED LS RBWDRH D LIRXTND D,




TN T Z R R A SCER R AT TERHE R AN S5 R RE AR 2 A
AEREH CEMAE - B4 BRI -REFEE)

w@%‘ 3,8 H I e ‘ ‘

2] XEMIFIAIAA A 70D [REBES2WT]DEIHRED THDH, ZO/NGHOEBZH LIZIE, ED LD RFHL -
R B D, AT LRI,




TR T R ZH R SCER B AT TERHE R AN 22 R RE AR 2 A
ABREH CEMAE - B R4 BRI -REFEE)

mﬁza%/r‘ 4,8 H I 2R ‘ ‘
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(1) picaresque novel (6) New Criticism

(2) Paradise Lost (7) magic realism

(3) dramatic irony (8) polyphony

(4) New Historicism (9) Slaughterhouse-Five
(5) William Makepeace Thackeray (10) Herman Melville
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[D] Answer the following questions either in English (preferred) or in Japanese.

[1] The following sentences look similar, but involve different syntactic structures. Discuss the syntactic
differences between (1a) and (1b). In your discussion, refer to the properties of the predicates seem(s) and
want(s) and draw tree diagrams for (1a) and (1b).

(1) a. Johnseems to leave early.

b. John wants to leave early.

[2] Based on your answer to [1], explain why (2b) and (3b) are ungrammatical, contrasting them with the
grammatical sentences in (2a) and (3a).
(2) a. Itseems that John left.
b. *It wants that John left.
(3) a. There seems to be a book on the table.
b

*There wants to be a book on the table.
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[3] Consider (4) and (5), where the (b)-sentences are the passivized versions of the (a)-sentences. While (4a) and
(4b) are semantically equivalent, (5a) and (5b) are not. Explain how this interpretational difference arises.

(4) a. The policeman seemed to investigate John.

b. John seemed to be investigated by the policeman.
(5) a. The policeman wanted to investigate John.

b. John wanted to be investigated by the policeman.

[4] One of the challenges children face during language acquisition concerns the so-called Plato’s problem, which
is based on the argument from the poverty of the stimulus. Explain what the argument is and discuss how it
might relate to the acquisition of the structural differences between sentences that contain seem and sentences
that contain want.
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[E] Choose three terms, and explain each of them either in English (preferred) or in Japanese.

(a) allomorph (b) allophone (c)
(e) critical period (f) do-support (8)
(i) nasalization (j) negative polarity item (k)
(m) Right-hand Head Rule (n) scope ambiguity (0)

Binding Condition C ~ (d) compounding

entailment (h) motherese
overgeneralization (I) presupposition
sonority




